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NO.23 What is the most accurate description of proactive retention?

*  Anticipates potential customer churn

*  Enables the business to reduce the number of credit risk customers

*  Enables business to respond to customers when they contact a call center

*  Simplifies the process of retaining customers

NO.24 You can save a regression model as a______________.

*  Scorecard rule

*  Regression Model rule

*  Decision Tree rule

*  Predictive Model rule

NO.25 The Prediction Studio portal supports the creation of two distinct types of predictive Scoring models are used

to__________________.
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*  score different propositions

*  predict continuous behavior

*  differentiate between good, better and best

*  predict binary behavior

NO.26 A company wants to create a data set that includes mock-up customer add Which method is available to populate these

fields?

*  Propensity

*  Bayesian

*  Monte Carlo

*  Import

NO.27 What happens when you increase the performance threshold setting of an Adaptive Model rule?

*  The number of active predictors increases.

*  The correlation threshold decreases.

*  The performance of the model is increased.

*  The number of active predictors may decrease.

NO.28 The Adaptive Model component in a strategy computes

*  a propensity value for each action

*  a single accept rate for all actions

*  a unique accept rate for each action

*  a single propensity value for all actions

NO.29 A Text Analyzer performs natural language processing on a piece of text. It then produces a structured output, which can be

analyzed using reports.

What type of text analysis does the text analyzer perform?

*  Word analysis

*  Word count

*  Classification

*  Cross reference analysis

NO.30 As a Data Scientist you want to use a predictive model to detect potential churn for a telco company .

Which three options do you have? (Choose Three)

*  Import a third party PMML model

*  Use a Google ML model

*  Create a Text extraction model

*  Create an adaptive self-learning model

*  Use Pega machine learning to build a model

NO.31 When a new component is added to the strategy canvas, its Rank value will be

*  One higher than the current highest Rank

*  0

*  Not set

*  1

NO.32 To enable an assessment of its reliability, the Adaptive Model produces three outputs:
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Propensity. Performance and Evidence.

The performance of an Adaptive Model that has not collected any evidence is_____________________.

*  1-0

*  null

*  0.5

*  0.0

NO.33 The process of importing a third-party predictive model into Pega is_____________?

*  the; same as importing a Pega predictive model

*  to first convert it into the Pega markup language

*  simpler than importing a Pega predictive model

*  similar to importing an adaptive model

NO.34 A large online store wants to adapt to changing customer behavior, and at the same time does not want to get earned away by

every next hype in the market. Adaptive models can help accomplish both business objectives.

Which statement about adaptive models is correct?

*  Adaptive models perform a spectrum model calculation.

*  Adaptive models perform a scoring model calculation.

*  Adaptive models require underlying predictive models.

*  Adaptive models are regression models.

NO.35 A company wants to simulate decisions that requires large amounts of data. However, the organisation&#8217;s live data is

inaccessible. Your advice is to use a Monte Carlo data set.

The Monte Carlo method________________

*  enables the company to generate random data for most of its application needs

*  generates data that the company can use as input for adaptive decisioning

*  combines external data sets into a larger data set

*  makes the organisation&#8217;s live data accessible

NO.36 In a strategy defined in the &#8220;Retention&#8221; issue and the &#8220;X-Sell&#8221; group, you can import

*  propositions from the Sales issue

*  propositions from all groups under the &#8220;Retention&#8221; issue

*  all propositions from the system

*  propositions from &#8220;X-Sell&#8221; group

NO.37 Many companies already use third-part predictive models and want to reuse these assets in the Pega Decision Management

tandscape.

Which decision component allows you to use a third-party Credit Risk Model 80% of the time and a Pega Credit Risk Model 20%?

*  Switch

*  Adaptive Model

*  Filter

*  Champion Challenger
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